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For this paper you must have: Pages Mark
. a calculator
. mathematical instruments. ?
4-5
Instructions G~
. Use black ink or black ball-point pen. Draw diagrams in pencil. 8-9
«  Answer all questions. 10 - 11
«  You must answer the questions in the spaces provided. Do not write
outside the box around each page or on blank pages. 12-13
« Do all rough work in this book. Cross through any work you do not 1415
want to be marked.
16 - 17
Information 18 -19
. The marks for questions are shown in brackets.
. The maximum mark for this paper is 80. ==
. You may ask for more answer paper, graph paper and tracing paper. 2223
These must be tagged securely to the answer book. 7 oe
Advice 2627
. In all calculations, show clearly how you work out your answer.
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Practice Paper Overview

Q Topic Mark | Total
1 Types of Number 1
2 Properties of Shapes 1
3 | Algebraic Expressions 1
4 Probability in Words 1
5 Money Problem 4
6 Ratio Problem 3
7 Expand and Simplify 2
8 Probability 4
9 Listing Outcomes 2
10 | Angle Problem 3
11 | Best Buy 3
12 | Midpoints 2
13 | Percentage Change 2
14 | Transformations 4
15 | Product of Prime Factors 3
16 | Trigonometry 2
17 | Pie Chart 5
18 | Ratio Problem 4
19 | Congruence 2
20 | Quadratic Graph 7
21 | Compound Interest 4
22 | Equation of Parallel Lines 3
23 | Direct Proportion o
24 | Scatter Graph 4
25 | Simultaneous Equation 4
26 | Reverse Averages 4
27 | Error Interval 2
Total 80
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3

Answer all questions in the spaces provided. oae

box

1 Circle the all of the numbers which are prime.
[1 mark]

0 1 (2) (3) 4

2 Here is a cuboid.

[1 mark]

Circle the amount of vertices the cuboid has.

2 4 6 10 12

3 Circle the algebraic expression.
[1 mark]

S=% 3x+5=12 2(x+4)=2x+38 @
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4 Hereis a statement

ordinary six-sided dice is rolled once.”

Circle the statement which best describes it’s likelihood.

Impossible ™ Unlikely Even Likely

5 Saman buys 3 coffees at £1.20 each
4 teas at 85p each
7 sandwiches at £1.95 each
Saman shares the total cost equally between 7 people.

How much does each person pay?

2x £120 =£3 o

“A number less than 7 will be scored when an

[1 mark]

Certain

[4 marks]

L X 0%S = Ex .40

T x £1.95 =42 bS

- P &

Answer E QQ) foS @
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6 \Work out

area of shape A : area of shape B

Do not write
outside the
box

Give your answer in its simplest form. [3 marks]
%&M Acca A - Areor ﬁ)
= % 9
(D Staep\lbubng 3 = 3
YRR T R
Answer Q* : 6
7 Expand and simplify
2x — 3(x + 4) [2 marks]
Do = Sl )
o - 3~ ~ |2 A
o
— oo -\
Answer ~ T~ 14 @
L
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Do nol write

8 A bag contains four different counters. e
A counter is taken from the bag at random.
The table below shows some of the probabilities of taking each coloured counter.
Counter Red Green Purple Orange
Probability 0.05 0.32 D7 0.2
8(a)  Complete the table. [2 marks]
(054 028 % O-203 = Ty = |
@ O
8(b) Whatis the probability that a green counter is not taken from the bag?
‘ [2 mark]
| — ©&-32 O
Answer o= 6% M
Www.missbsresources.com 4
Summer 2019

Practice Paper 1

8400/MissB/3F



9 On a school sports day, students must take part in one track event

and one field event.
Track Field
Hurdles (H) Long Jump (L)
Steeplechase (S)  Pole Vault (P)

Relay Race (R) High Jump (J)

List all the possible combinations of events.

HL S L R L

[2 marks]

H P a-P RP @@(Br}u&&.ﬁ

H S S H RW

Dy
Corceck

10 Find the size of the missing angle x.

Diagram not

drawn accurately

[3 marks]

Give reasons for your answers

120~ (38428) Pnase angle inBoscoloy A are
equa]
=A%0 - i (M) Argles in artrenala cqual 18

= v (D@r feOSCAS .
®
x = \lp VcarJdQQ,ll:j O\?{:ogi"f? ()r\gbzs DUQQQ{L&OJ

Answer Y = LUn®
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11 A shop sells two different pack sizes of Heinz Tomato soup.

@ £2.59 for @ £3.75 for

4 x 400ml tins 6 x 400ml tins

Which pack size is the best value for money?
You must give a reason for your answer.

[3 marks]

&

Q.<a — L =0 D LTS @
®

208 Tl = g gEev 0

B s besk valus *%/ Mon e ®

Answer
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12 M is the mid point of a line segment AB.
Ais the point (2, 3)
B is the point (8,11)
Find the coordinates of M, the mid-point of the line AB.

.,2—}8 , > & ll\ _ [ o ltk\

[2 marks]

() oe.

2 =/ 2%

= 8,5)

0,

oo (D for ove

Cowre ek cooyd i d

Answer

13 Paul buys a laptop from PC World for £529.
A year later it is worth £444.36.

Calculate the percentage decrease in the price.

Do not write
outside the
box

[2 marks]
Dea&&&_ﬁl v O
O aqriod
)
SRI- 44436 vy 10O = R4bLY x 10O
SQ.E? Sa29
. o
Answer f(o A: :
WWW.missbsresources.com 4
Summer 2019 Turn over »

Practice Paper 1

8400/MissB/3F



14 y L=

T~ Gy {
/\ a \
DAL
\ \ 2§ \
AN RN
Ay
@ B
-—f -2 Y, 4 ()
2
—4
—6

A=

Triangle A is drawn on a coordinate grid.
Reflect triangle A in the line x = 1 and label this triangle B.
Enlarge triangle B by a scale factor of 2 from the centre (—3,5)

label this triangle C.

oo d®
o B Co~Y
Swoyp

(o wan

o et

Do not write
outside the
box

k-
).

v gm

S

[4 marks]
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Do not write

15 Express 1176 as a product of its prime factors in index form. [3 marks] | %"
51l
Tre
\
@/ 244
\
17
&
@‘5‘3@ e

A B S % 1% | @

Answer nggy_ll @

16  Work out the length x.

Not drawn
accurately
12 cm
A
[2 marks]

Answer  15. T ¢ @ cm
Crece ok IS LL
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17 A school asked 80 students what they thought of the schools canteen.

The results are shown in this bar chart.

40

35

M
it

Frequency

.
L

g
-
[

Outstanding Good Could be better

Draw and label a pie chart to represent this data.

?)BO_’ W
%0
O & & N
2k - )
pfvtjle )J;;.xs fzg x-S i\(‘»S.
RIS ENLNE Y
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18 Yellow paint costs £3.60 per litre.
Blue paint costs £2.90 per litre.
Yellow paint and blue paint are mixed in the ratio 1:3 to make green paint.

Work out the cost of 14 litres of green paint.

[4 marks]
/ 135] T iw
B [3s123slzs] \{,
WSl =3.§ «
3.5 Tellow - 0. S L Blee .
3.5 ¥ 12.60 10.Sx 22-90

= .60 v~ tanis

$12.60 + 2306.49
= 136

I3.05 v

Answer
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19 Here are four triangles

Not drawn
accurately
A B
8cm
70° 40° 40° 70
8cm
C D
8cm
70¢ 40° 40° 70°
8cm
19 (@) Which two triangles are congruent? Circle your answers.
[1 mark]
® : c ©
19 (b) Circle the reason for your answer to part (a).
[1 mark]

SES SAS RHS
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20 (b) On the gird, draw the graph of y = x? + 4x — 3.

[2 marks]
\/poir\h‘.
\/Smoo{h
x
|
] | -10 |
20 (c) Circle the coordinates of the turning point of the curve.

[1 mark]

(0—3) (-2,1) (2, —7) (4,-3)

20 (d) Use the graph to find approximate solutions to x? + 4x — 3 =/=5
u /[2 marks]
y=-§ J
\J

x=-3.5 i x= -0.7 -

www.misshsresources.com

20 (a) Complete the table of values for y = x? + 4x — 3. [2 marks]
74
x | =4 | 3| 2| 1| o | 1] 2 Ll
¥ =3 |[I—6 | -7 -6 | -4 2 O /2. colf¢
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e
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21 Here is the interest rate for a bank account.

Banks R Us
O
Interest: 0% +O - & %o =006
0.6% per year compound , Z
interest. |30

foc Ya o€ molk
No withdrawals allowed until
the end of three years.

Adiga has £15 000 she wants to invest.
21 (a) Calculate how much money Adiga will have at the end of the 3 years.
[3 marks]

1 SO00 X 1,0063 v
= |§277]., 62324

Answer 2’5 Z7(o 67.- /

21 (b) Give a reason why Adiga may not want to invest her money into

a Banks R Us account. [1 mark]

She cen't withndawl mongu in the cull thea

Wa(s. Shoe matxj neod to actns War mcm& -
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22 The straight line L has equationy =4x +5

The straight line M is parallel to line L and passes through the point (2, 6)
Find the equation of line M D The sane af&dlet’\\

m=¢ andc=5

DCLj (3 6
[3 marks]
= &
Y=moc + <
At /
= Lo &+ C
J
=4+ C
L=8 +C
-5 -9
= = /
Answer U= Gac - L |
U
23 yis directly proportional to the square of x ij ()LOCZ
X ﬁ\) a
y |\ /| 16
. [3 marks]
Workoutthevalueofa 9= / \\/3:]6
- — L p—
= kxl/ &j-—__fé, OC 4= O 25x
2 - G
Y=L wk |
| & = oc%
9=36k =
g_é:‘( / LG =2
| . ;
K= /2,"0r0.2 9 = JBu= K
a=

g

wWww.missbsresources.com

Summer 2019
Practice Paper 1

Turn over »
8400/MissB/3F

Do not write
outside the
box



18

24

24 (a)

24 (b)

24 (c)

Below is a scatter graph showing the air temperature and the

height above sea level.

104

K

A
X

Air Temperature
(Degrees C)

o
——
PR

- g1 v
I \)%( (rm

T

Height Above Sea Level (km)

Describe the correlation between the air temperature and the
height above sea level. [1 mark]

Sbron&a) N g a8 @

Negakive accopted )

Circle and write down the coordinates of the outlier. [1 mark]

Answer (Q, R 6)

Find an estimate of the height above sea level when the air
temperature is —3°C. [2 marks]

Answer C’ ) 5 lCVV\ @
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Do not write
outside the
25 Solve the equations b
3x + 5y = 19
4x - 2y =-18
You must use an algebraic method.
[4 marks]
Soama bt 4 log = 3%
Ta\&eomcxb = . i
Oppmite RO — 19y = S @
Plus .
26 x = +52
A - T ()
Soo i Do +gtj =1
(B2 )k By = 19,
g \J
T + S% =115 @
ng = ZS
J
= S [
. —
X = - '2.- y = 5
www.missbsresources.com
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26 Five integers have
a mode of 7
a median of 9
a mean of 8.
What is the greatest possible range of the five integers?

You must show your working.

[4 marks]

gY = = QD (D

4149 = 23 O
HO v 2% = \7 ?
Crivedest (ovse |, | 6
o =} 0,
Answer 'S @
27 Sally won a race with a time of 89.2 seconds.
This time, t, is to the nearest tenth of a second.

Complete the error interval due to rounding. [2 marks]

2915 v

st < R

I

End of Questions
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